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Oracle 1z0-207 : Practice Test

Question No : 1

The following statements explain types of configurable bill items. Which of the statements
is TRUE?

A. Precreate allows the bill item to be created before any event occurs

B. When displaying service usage charges, the Cumulative option is usually used to show
an accumulation of all charges for the bill cycle

C. There are only two types of configurable bill items: Precreate and Cumulative

D.Aand B

E.A B,andC

Answer: D

Question No : 2

Which of the following statements about accounting and billing cycles is TRUE?

A. One or more bill cycles make up an accounting cycle
B. One or more accounting cycles make up a bill cycle
C. A bill cycle is always one month in length

D.Aand C

E.Band C

Answer: B

Question No : 3

Which of the following can change for a new Portal release?

A. Database schema
B. Product architecture
C. Technology
D.AandB

E.A, B,and C

Answer: E
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Question No : 4

Which of the following statements CORRECTLY describes Facility Module Opcodes?

A. These opcodes can call Base Opcodes

B. They are compiled into FM shared libraries and linked to the DM
C. These are considered high-level opcodes

D.AandC

E.A B,and C

Answer: D

Question No : 5

Which of the following statements about using Cycle Fold to convert one resource to
another is TRUE?

A. In the Rate Plan Selector window, PIN_FLD FOLD.PIN_FLD RESOURCE_ID must be
set to the resource you are converting to

B. The balance Impact window contains the resource you are converting from

C. The balance Impact window contains the resource you are converting to

D.Aand B

E.AandC

Answer: C

Question No : 6

Which of the following statements about the Data Manager process is TRUE?

A. Child processes are spawned dynamically when the DM receives a connection request
from the CM

B. Incoming requests from the CM remains in queue until they can be processed by the
backend processes
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C. To identify the total number of DM processes running, simply add the number of front
end processes plus the number of backend processes
D.Aand C
E.A/B,andC

Answer: B

Question No : 7

Which of the following statements about Mutually Exclusive Deals is TRUE?

A. An account is allowed to own two mutually exclusive Deals if the Deals were purchased
at a time when they were not mutually exclusive

B. When two deals are mutually exclusive, you must configure the mutually exclusive
property in both Deals

C. An account can never own two mutually exclusive Deals under any circumstances
D.Aand B

E.Band C

Answer: A

Question No : 8

Which of the following events is used to convert one resource to another?

A. Cycle Forward Event
B. Cycle Fold Event

C. Cycle Arrears Event
D. Cycle Rollover Event
E. Product Cancel Event

Answer: B

Question No : 9
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Which of the following is a VALID FM entry in the CMs pin.conf file?

A. fm fm_module ../../lib/fm_rate.so fm_rate config pin
B. cm fm_module ../../lib/fm_rate.so fm_rate_config pin
C. fm fm_module fm_rate_config ../../lib/fm_rate.so pin
D. cm fm_module fm_rate_config ../../lib/fm_rate.so pin
E. fm_module ../../lib/fm_rate.so fm_rate_config pin

Answer: B

Question No : 10

Which of the following is NOT a valid error location for an error that occurred in the CM?

A.PIN_ERRLOC_CM
B. PIN_ERRLOC_FLIST
C. PIN_ERRLOC_PCM
D. PIN_ERRLOC_POID
E.Band C

Answer: C

Question No : 11

Which of the following is NOT a feature of Portals Revenue Collection component?

A. Rating and Discounting

B. Accounts Receivables

C. Billing

D. Payments

E. Remittance and Settlements

Answer: A

Question No : 12

http://www.maitiku.com QQ:860424807


http://www.maitiku.com
http://www.maitiku.com

/“Tﬂ’*

maitiln con 5 Ak BE £ 2 P

Oracle 1z0-207 : Practice Test

Once EDRs are rated by the Pipeline Manager, is used to load the rated
events back into the Portal database

A. Universal Event Loader
B. Bulk Account Loader

C. Suspended Event Loader
D. Rated Event Loader

E. Database Loader

Answer: D

Question No : 13

The Ringtones Download Event for a particular plan has been configured with the following
Quantity Brackets:

Minimum: No MinimumMaximum: 5Rate of $1.50

Minimum: 5Maximum: 10Rate of &1.00

Minimum: 10Maximum: No MaximumRate of &0.50

If the Quantity Discount Brackets is set to Resource Balance: Ringtones Downloaded and

the customer downloads 15 ringtones for the month, what would be the total charge for the
customer for the ringtones downloaded?

A. $15.00

B. $7.50

C. $12.50

D. $22.50

E. None of the above

Answer: A

Question No : 14

After a Portal installation, typing pinrev at the command prompt does which of the
following?
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A. Displays a list of all Portal components installed

B. Prints BUILD_TIME, INSTALLED_TIME, and UPDATE_TIME
C. Displays the version number for the Portal components installed
D.AandC

E.A B,and C

Answer: D

Question No : 15

Which of the following statements about Portal partitioning is TRUE?

A. Separate partitions can be created for real-time and delayed events

B. It is possible to upgrade from a non-partitioned Portal database to a partitioned Portal
database

C. The utility used to create partitions is partition_utils.pl

D.AandC

E.A B,andC

Answer: E

Question No : 16

is the product type used for all recurring charges such as a

monthly fee

A. System

B. Recurrence

C. Subscription

D. Item

E. None of the above

Answer: C

Question No : 17
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Which of the following statements INCORRECTLY describes the Object Tier of the Portal
architecture?

A. This tier can also be referred to as the Data Manager

B. One object tier can be used with multiple data tiers

C. This tier is used to translate Portal data into the format that can be processed by the
Data Tier

D. This tier processes all requests coming from the Business Process Tier

E. This tier can also be referred to as the Translation Manager

Answer: B

Question No : 18

Which of the following statements about transitions in Pricing objects is TRUE?

A. Transition rules can be applied to both Plans and Deals

B. Primary service needs to be the same when transitioning Plans

C. During Plan-to-Plan transitions, any Deals that are required are automatically purchased
D.BandC

E.A B,andC

Answer: E

Question No : 19

Which of the following statements about rating in Portal is TRUE?

A. GPRS events can be rated by both real-time rating and high-performance batch rating
B. Pricing Center is the application used to define the rating rules for both real-time rating
and high-performance batch rating

C. When using high-performance batch rating, customer account information is loaded into
memory for fast processing

D.Band C

E.A/ B,andC

Answer: E
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Question No : 20

Which of the following provides an INCORRECT description of Portal applications?

A. Payment Tool can be used to reverse payments in Portal

B. Collections Center can be used to view, add, and cancel accounts in collection
C. SIM Administrator can be used to load SIM cards into the Portal database

D. Self-Care Manager, which is used by customers to manage their accounts, is not
customizable

E. Developer Center can be used to view data stored in the Portal database

Answer: D

Question No : 21

Of the activities listed below, which one occurs only at the BEGINNING of an accounting
cycle?

A. usage event

B. cycle_forward_arrear event
C. cycle_fold event

D. cycle_arrear event
E.AandB

Answer: B

Question No : 22

Which of the following statements about Pricing Center is TRUE?

A. Pricing Center is the only tool available to import an exported Price List

B. When working in Pricing Center in offline mode, the snapshot area cannot be refreshed
C. Deals, Products and Discounts are reusable Pricing objects

D.Band C

E.A B,and C

Answer: D
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Question No : 23

You want the /event/billing/deal/purchase event to trigger the opcode 4008. Which of the
following shows a VALID pin_notify entry?

A. 4008 0 /event/billing/deal/purchase
B. /event/billing/deal/purchase 4008
C. 4008 /event/billing/deal/purchase
D. 0 4008 /event/billing/deal/purchase
E. /event/billing/deal/purchase 4008 0

Answer: A

Question No : 24

The customer generates a session event with a usage charge of $53.00. If the threshold
values in the discount steps are configured as the following:

What is the balance impact for this event if the Discount Rule Type = Threshold and the
Drum Type = Charge?

A. $37.10
B. $39.10
C. $47.40
D. $44.50
E. $49.10

Answer: A

Question No : 25

Which of the following tasks does NOT improve billing performance?
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